6.10.4.4
Schedule Control Error

ERCOT will calculate the following for each QSE for each two-second period:

SCE
=
Actual Generation

+
Load Resource Response to Instructions
–
Base Power Schedule

–
Sum of any Dynamic Resource Power Schedules

–
Expected Governor Response due to frequency of the QSE’s portfolio of Resources

–
Instructed Ancillary Services power

–
The signal sent to ERCOT that is estimated in Real Time representing the real power interrupted in response to the deployment of Balancing Up Load (BUL) for Dynamically Scheduled Load

–
Fleet/Zonal OOME Dispatch Instruction
	[PRR307:  Revise Section 6.10.4.4 as follows when system change implemented.]
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SCE
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–
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Instructed Ancillary Services 
=
Instructed (Regulation Service

+
Responsive Reserve

+
Non-Spinning Reserve

+
Balancing Energy power schedule)

LaaR response to Instructions is provided for each interruptible LaaR that is indicated available in the Resource Plan according to the following formula:

LaaR response to Instructions = ∑ per LaaR (last telemetered breaker load MW value prior to deployment - current telemetered breaker load MW value)

